XVEWO VA
R TEE B EO0° HANSAVFLEX

_§.3 - 7
g01 KR AR . - .
W 1 e
BHEX 1 HOMEH24°HE s N
02 KHR BT . i
BHER 2 20°W | 1
I S %
BN%E  HRTRDNSRER - L)
LERER BE0° e,
R —= "0R
R 1SO 8434-1 81
HEBE  EEREFAERSADIR) "
R &M -
B’xR
BXRE, BA, ENARNATN TERENHABESHERREENRARES.
THER
NBR A1 RH B RO B 5
FPM (8R) MBS EREMH
#* &
B Z£HiRy IEEHBE Gd2 M L2 L3 L7 sSW S1 (0]
(mm) (mm) (mm) (mm) (mm)
XVEWO NW 04 HLVA L PN 315 6 M12x1.5 12,0 26,0 19 12 14 40x1.5
XVEWO NW 06 HL VA L PN 315 8 M14x1.5 14,0 27,5 21 12 17 6.0x 1.5
XVEWO NWOB8HL VA L PN 315 10 M16x 1.5 15,0 29,0 22 14 19 75x1.5
XVEWO NW 10 HL VA L PN 315 12 M18x 1.5 17,0 29,5 24 17 22 9.0x1.5
XVEWO NW 13 HLVA L PN 315 15 M22x1.5 21,0 32,5 28 19 27 12.0x 2.0
XVEWO NW 16 HLVA L PN 315 18 M26x 1.5 23,5 35,5 31 24 32 15.0x 2.0
XVEWO NW 20 HLVA L PN 160 22 M 30 x 2 27,5 38,5 35 27 36 20.0x 2.0
XVEWO NW 25 HLVA L PN 160 28 M 36 x 2 30,5 41,5 38 36 41 26.0x 2.0
XVEWO NW 32 HLVA L PN 160 35 M 45 x 2 34,5 51,0 45 41 50 32.0x2.5
XVEWO NW 40 HLVA L PN 160 42 M52 x 2 40,0 56,0 51 50 60 38.0x2.5
XVEWONWO3HSVA S PN 630 6 M14x15 16,0 27,0 23 12 17 40x1.5
XVEWONWO04 HSVA S PN 630 8 M16x 1.5 17,0 27,5 24 14 19 6.0x 1.5
XVEWONWO06 HSVA S PN 630 10 M18x 1.5 17,5 30,0 25 17 22 75x1.5
XVEWONWO08HSVA S PN 630 12 M20x1.5 21,5 31,0 29 17 24 9.0x1.5
XVEWONW10HSVA S PN 630 14 M22x1.5 22,0 35,0 30 19 27 10.0x 2.0
XVEWO NW 13HSVA S PN 400 16 M24x1.5 24,5 36,5 33 24 30 12.0x 2.0
XVEWONW 16 HSVA S PN 400 20 M 30 x 2 26,5 445 37 27 36 16.3x2.4
XVEWONW20HS VA S PN 400 25 M 36 x 2 30,0 50,0 42 36 46 20.3x2.4
XVEWONW25HSVA S PN 400 30 M42 x 2 35,5 55,0 49 41 50 253x2.4
XVEWONW32HSVA S PN 315 38 M52 x 2 41,0 63,0 57 50 60 33.3x24
ZEMRHLL=FER =R S=E - PN=HIEESHN PB=HARIEDH - gd2=BHER

FREE
XVEWO EAERE, AE0°, W
VEWO VA Z#ERE AE0°, THN

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
06.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



